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= 416,992
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Al 7,317,727
SAISE & =X A2 Y| 2,973,280 3,518,749 AB45,469
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M IIRNZ2EXsSEs 908,042 1,769,607 A861,565
O33=N2e| Hae 29 908,042
—gt ol 727,331
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10,0303 *8A| 250 +21 L +6E 505,512
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10, 08021 +8AI 2450 x24%= 9,283
zaUsy
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ANZ2HRI2RE
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Qe b gk =] 653,956,000 *3.545% 23,183
- WIRY 23,183,000 %12.94% 3,000
- NESE 653,956,000 *1.75% 11,445
- MHHEE 653,956,000 *0. 966% 6,318
—S o2 180,711
2=
12,4602 +8A| 2Hx10H +21 2«6 125,597
=g
12,4603 *8A| 2t 10 +24=F= 23,924
Fesdsd
12,4603 *8A1 2+ x10H + 7 6,978
A2t 225
12,4603 #8AI 2+ 10H x6 5,981
- =203 162,480,000 *4 . 5% 7,312
- AHEE 162,480,000 *3.545% 5,760
A RY 5,760,000 *12.93% 745
NEZE 162,480,000 *1.75% 2,844
MHEE 162,480,000 *0.966% 1,570
201 Ler2 | 486,332 580,560 A94,228
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M NHItse sE=sX2el
ol OlchXIEHel CAIS3EXY EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
203 HR=H] 1,000 1,000
03 A=A 2= 1,000 1,000
OFASE & sAUAIE=S g g2
1,000,000 %14 1,000
206 MH=H| 37,906 47,382 N9,476
01 M=4l 37,906 47,382 A9,476
OAEE 2= I S 78 20,406
— e 300,000& *152 4,500
— &t 4002 *19,6650H 7,866
—X== 8,0802/+500% 4,040
—DOME 2,000,000& *23] 4,000
Oxd= dolis s %M & vlE 7 17,500
—dolls Xl 10,0003 900X 9,000
SI1EHIZ 10,0003 #8505 8,500
305 =S 10,000 3,000 7,000
01 =S 10,000 3,000 7,000
OXg S ALIZA0 HE tia=
1,000, 000& 102! 10,000
401 AIEHIZ SR HYI 1,450,000 1,100,000 350,000
01 Al&HI 1,450,000 1,100,000 350,000
OUHAE MFA AI2ENE =853 =4
A+ 103,000&%2,427 . 18m 250,000
OEASE AI2= FHIAY
10,000, 0002 * 15JH £ 150,000
O=AIEE 23)17 X & A
2,000,000 +20IH 2 40,000
OEAISE =AU ===A2c| At
20,000,000 1574 2~ 300,000
OzANsd SAS FAE+ At
5,500,000& « 1291 & 66,000
OFASE SES A &%
4,000,000 *317H 2~ 124,000
OZAISE td2te| IV |2+ At
100, 000& *3009H 2 30,000
OFAISH td2te| OV A& Xl At
8,000,000 *57H 2 40,000
OEAIZE et&&e] CCTV == Jtiilet WAL
jie 1,000,000 *30H 2 30,000
OZAEE =AU HAANE [ A
10,000,000 *20H 2= 200,000
OxdzS3 AL JH| Al
30,000,000 * 190 2 30,000
OEAIEE tE¥d S ME=S 472
100,000 »10024 10,000
OflE LU HHIAY
50,000,000 *10H 2~ 50,000




A SE=AL
M NHItse sE=sX2el
ol DliXIEgsel AlsEd (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O3kt Sdl2d &Hd alA XY
10,000,000 +27H 2~ 20,000
OREXT B, =AU AILS Fblre]
20,000,000& »33] 60,000
O X2X= S, =AU A2 FHIAE
20,000,000& »23] 40,000
OZAI3E & =X =2 |
2,000,000 *57H 2= 10,000
405 KHoHF S| 80,000 15,000 65,000
01 ML ESFSHI 80,000 15,000 65,000
Oul=2I1, JIAE +
1,000,000 * 10CH 10,000
O2.58 Ed #Y 70,000,0002 *1CH 70,000
JIHS =08 A= 3Hl S FA&c 30,000 30,000 0
401 Al HIZL 048I 30,000 30,000
01 Al&HI 30,000 30,000
OJIA9 =01 Al2= S FA2c ZHl A
5 6,000,000 *57H 2 30,000
@ Ji= 8Xl 2el 22,713 27,241 N4,528
201 fer= 3| 16,977 20,071 A3,094
01 At 2|l 6,091 7,975 A1,884
Ost¥al 8| s =2l
50,0002 *3CH* 102 1,500
Ostmal B4 U 22I8E 7Y
1,775,000 %13 1,775
oY tdEss F¢ 200,000 #52= 1,000
OFN ¥ 2SAE &2l
227,000 x84 A 1,816
2 S52g4l 10,886 12,09 A1,210
Ostdal & 37 M2 JI2S 33k
= 116,380 x30H 2% 122] 4,190
Ost&al & Sl A =23
86,0003 *30H A+ 128 3,096
OM=&g I 25U
300,000 * 122 3,600
206 M=Hl 5,736 7,170 A1,434
01 MHZHI 5,736 7,170 A1,434
O=AU & Alg=2el It 2
573,600 x102 5,736
AKX Al 2 EHI 230,394 136,231 94,163
201 er23y| 27,511 32,627 N5, 116
01 AtR2t2|HI 8,180 11,148 A2,968
Ostdd & 32 ANE=E 22ES 7 1,368
—3t&X 228,000 +62 1,368
O3% W 2t & S5 41X
500,000& %12 500




A SEA=SA
ZM: SIhsE =KL
ol OlchXIEHel CAIS3EXY EER=E)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
O&H| #=&H| 200,000& »22 400
O32 ¥ =AU g6l 4l Xt 2,980
—&==xt 495,000 *42] 1,980
—Hse 500,000& *22 1,000
Ozl &l el & X 2L 2,932
—2tcl HHl #=2/h|
100,000 #5CH*32] 1,500
—AtZE2e A2F A
14,3203 x105+2)1*52] 1,432
02 3224l 19,331 21,479 A2,148
OEASE AIEE &DIRsS
2,250,000 x4& 9,000
OZAIZR AES Y545 23
860,910& 128 10,331
206 =4I 2,883 3,604 AT21
01 XH=4l 2,883 3,604 AT21
OAEE 2=+ Il & g+ & 78
1,077,000& %12 1,077
OXZ+ golls 2M 2 € HE27
25,8003 *35 L +23] 1,806
401 AlZHIZ S 0HbI 200,000 100,000 100,000
01 AlZHI 200,000 100,000 100,000
OUHXIT AIEE U +2 ] 22N
1,000,000 #5000 2 50,000
OSUE SNZ ZHIZA
100,000,000 * 104 2~ 100,000
OdtHalg M0 Sd=2 &X
50,000,000 * 1042 50,000
CAESE & =X x4 11,800 13,680 1,880
201 223 10,000 12,000 22,000
01 AFS2t2ltl 10,000 12,000 A2,000
OB4YR T A5 FHI(BSA Y S
) 8,000,000& 13! 8,000
OZASHAHE 28+E
100,000& x5 & %42 2,000
202 04| 1,800 1,680 120
01 2L AL 1,800 1,680 120
OZANBR S ZH0 M2 X0
60,0003 6 & +52 1,800
SASE 22 A 1,630,000 600,000 1,030,000
401 AIEHIZ SR THYI 1,630,000 600,000 1,030,000
01 AlZHI 1,630,000 600,000 1,030,000
O 2D|Zd ZEAY
100,000, 0003 *2H 2~ 200,000
OZAZSE e|22E At
103,000& #1,456.31m *2JH A 300,000
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ol DliXIEgsel AlsEd (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OHEUZE S 222
103,000 %9, 708.73m" 1,000,000
OdiEd Al dEaly oadd S ZdSA
100,000,000 * 194 2 100,000
Odbts 2 S8 S=U & M= EXAt
o4 SEXHDES A)
15,000,000 *2JH 2 30,000
R0tz WNE2I 29,604 28,866 738
= 14,802
== 10,361
Al 4,441
307 212+01& 29,604 28,866 738
= 14,802
= 10,361
Al 4,441
05 glt?(& = 29,604 28,866 738
OR0t: DS fIS2Y
3,700,500 «8E 29,604
= 14,802
= 10,361
Al 4,441
I01E TAAHEAE S =X EX HS At 574,556 576,131 A1,575
= 402,190
Al 172,366
311 XS0l Rratg 574,556 576,131 1,575
= 402,190
Al 172,366
04 NILHSO0I Attt 574,556 576,131 1,575
OO0 TAIAHBAE (S, SX)EX
OH XIZXH OI Rt 287,278,000& »23] 574,556
= 402,190
Al 172,366
SAlE |AZel A 1,500,000 1,500,000 0
401 AIEHIZ SR OHYI 1,500,000 1,500,000
01 Al&HI 1,500,000 1,500,000
OZ¥8 ¥ =X =X
33,400,000 *4 1 2=+63] 801,600
OFAl= RAl2el
16,370,000& 10§ A+63] 98,220
Oot=2stet 712l
14,290,000 7 A-+63] 600, 180
SAZE O2AE=E 2HEL 200,000 200,000
401 AIEHIZ R HYI 200,000 200,000
01 Al&HI 200,000 200,000
O=AIEE & =AU tIAEE 2HEY 200,000
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ol DliXIEgsel AlsEd (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
=X 50,0002 *2,0007H 100,000
-3k 500, 0002 100K 50,000
—HIZAIEE 299,400 x167m 50,000
CAIEE, SAU AIE=28H & HollE YA 300,000 100,000 200,000
401 AIEHIZ SR 0HYI 300,000 100,000 200,000
01 Al&HI 300,000 100,000 200,000
OZAISE - =AU AIZ=S8Hl & Eolis &
Ml 750,000 *20001 2:+23] 300,000
F=ZAE RX2e 60,000 60,000
401 Al HIZL 2018 60,000 60,000
01 A&l 60,000 60,000
OZAIBY +BNE SX24 L HAEY
S 60,000
—CABE =FAE A2 SIOHAS
300,000& x 1201 263 21,600
—ZASE FEAE 22 FAES
200,000 x 1200 2 +63 14,400
—CADH SAAL AE L AE BY
1,000, 0002 * 129 A*23] 24,000
a2 KSR AE 250,000 274,000 24,000
< 250,000
401 AlZHIZ S 0HbI 250,000 274,000 24,000
= 250,000
01 Al&HI 250,000 274,000 24,000
OoliE8 Al H2=HSH dH ZEAMY
30,000,000 * 14 30,000
= 30,000
OZx=5 &2 0{el0I=0l8 EHIA
40,000,000 * 14 40,000
= 40,000
OolEtE Y22 FHIAY
30,000,000 *14{ 30,000
& 30,000
O/ITHAIT eI S B2XY EXISA
50,000,000& * 14! 50,000
< 50,000
OLIUXIZ sHS YU A2 SAE
100,000,000 * 14! 100,000
[ 100,000
SHHletA 2E 82,733 90,000 NT,267
201 fer= 3| 32,733 40,000 NT,267
01 At 2|l 10,413 15,200 N4, 787
Osd&tiets 23 10,413
— 201 ZH| e 2
166,600« 12& 2,000
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ol DliXIEgsel AlsEd (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-5 =AY 249
84,4108+ 128 1,013
—SMEH !X Y ES
116,660 122 1,400
—ANEE g9 &= 200,000& +6E 1,200
—deEI] A 100,000 x2CH* 123 2,400
N2 A0 A
200,000 * 122 2,400
02 S3=gHl 22,320 24,800 A2,480
Osdtiets 28 dJigs g7
1,060,000& «12& 12,720
OSdHctA 28 =523 E7
800,000& 122 9,600
401 Al HIZ 01| 50,000 50,000
01 Al&H| 50,000 50,000
OSHHZA A SRS 50,000
—ANE=S &M 100,000 »200m* 20,000
—3E4 AT S JIAHEHl #el
3,200,000 x62 19,200
—&D| & SAAIZ(CCTV E&) FHI
2,160,000 *57H 2~ 10,800
212 A2 100,000 100,000
401 Al HIZ S OHHI 100,000 100,000
01 A28l 100,000 100,000
O |Z 22 At
1,200, 0002 «200 A-*23] 48,000
oYz MHEAI|Z E=3A
33,7663 *1,540m 52,000
A0IRA= FE TAIEY 4,339,031 6,449,344 A2,110,313
= 1,000,000
= 275,119
Al 3,063,912
SEETANSIEE 4,339,031 6,449,344 /2,110,313
= 1,000,000
= 275,119
Al 3,063,912
LIR28 2XI2g o 2el(MEtAtd) 250,000 279,100 129,100
= 200,000
Al 50,000
101 @12A4H| 67,111 0 67,111
= 53,687
Al 13,424
04 JIZtN2 2N S 2 67,111 0 67,111
OL=R2d &ge o2 67,111
—JI22(E8) 1,684,910 x4 +7E 47,178
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&?H?l: SEETANSEHE (EEEE))
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
< 37,742
Al 9,436
—FEFE(ES) 80,2403 x4 »31 9,950
= 7,960
Al 1,990
—ZRYLY(2E)
80,2403 x4 10! 3.210
& 2,568
Al 642
—=gle= 60,340,480 *4. 5% 2,716
= 2,173
Al 543
—22EE 60,340,480 +3.545% 2,140
s 1,712
Al 428
-y 2,139,070& *12.95% 278
= 222
Al 56
—UEEE 60,340,480& *1.75% 1,056
= 844
Al 212
—&HEE 60,340,480 +0.966% 583
S 466
Al 17
201 er23| 5,600 5,600
01 At2teltl 5,600 5,600
oUSSd SNFY U DM Ty
500,000 x2CH*43] 4,000
ou=s=2d 249 =58 +¢
200,000 +82 1,600
206 M=l 5,500 5,500
01 M= H| 5,500 5,500
O=Z0IA X & 500,000 32 1,500
Oxugtlg +¢ 25,0002 *100% 2,500
OdgaliEs SM-e 300,000 *58 A 1,500
401 Al HIZ S OHbI 171,789 268,000 N96,211
== 146,313
Al 25,476
01 Al&HI 171,789 268,000 296,211
ou=ssd €1 23015+= 014 S)
17,178,900& 103 171,789
= 146,313
Al 25,476
stz DCIUIOIE 2E(HEAY) 24,000 25,616 N1,616
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&?H?l: SEETANSEHE (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 12,000
Al 12,000
101 @124H| 24,000 25,616 A1,616
= 12,000
Al 12,000
MU IIRIMZZENSES 24,000 25,616 A1,616
Ostuz ACIUIoIH 2 24,000
—JI=23(E8) 1,684,180 x 12+ 112 18,526
s 9,263
Al 9,263
—FHEFE(ES) 80,2408 18 »262 2,087
& 1,043
Al 1,044
—3FL+E(E8)
80,240 x1& 12 963
= 481
Al 482
—=0ld= 21,578,070 *4 . 5% 972
< 486
Al 486
—AIEE 21,578,070 %3.545% 765
= 383
Al 382
—1I=2E 21,578,070 *1.75% 378
== 189
Al 189
— & HEE 21,578,070 *0.966% 209
= 105
Al 104
— Y 764,9402 %12.95% 100
< 50
Al 50
H2EH( AR SE) &4 & |A2AL 1,119,936 898,696 221,240
101 e124d| 770,672 841,742 AT71,070
M ORNZZ2NSE S 770,672 841,742 AT71,070
OEAl= &Hl &eH 29 770,672
—gt Q1% 391,960
s 80,2403 x 182 +21 2«0 272,977
cF=ReE 80,2402 x18H 36 51,996
- Xt 80,2403 18H+0E 12,999
SRL=E 80,2403 x18H 10! 14,444
=glei= 352,416,000 *4. 5% 15,859
A2 352,416,000 *3.545% 12,4%
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B MOIRIE T2 CAIZA
ol SEEZASEEE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- UELE 352,416,000 *1.75% 6,168
SHHES 352,416,000 0. 966% 3,405
- IR 12,494,000 %12.95% 1,618
—S= 2R 378,712
JlEs 2,003,2532 « 14+ 263,750
cFRad 99,6803 x14H+362 90,239
B-PNESS 99,6802 x14&+02 12,560
SREE 99,6803 x14E 10! 13,956
=0z 340,506,880 4. 5% 16,323
HIEE 340,506,880 +3.545% 12,071
- UEEE 340,506,880& *1.75% 5,959
AHEE 340,506,880 *0.966% 3,290
A2 12,071,0002 *12.95% 1,564
201 el 25,564 30,274 A4,710
01 At22t2lt] 10,746 13,810 A3,064
Odtl=&Hl 100,000 = 10CH*23 2,000
oYl HY Il Uk
500,000 *1CH+OL 4,500
OJt23tet Atz 4223
21,2302 x105+5 %42 4,246
2 35284l 14,818 16,464 1,646
Ou=Jl S 3l *5UH
80, 13021204462 6.418
Os2xg 280
275,000 «2CH* 123 6,600
OHXNSE 2ots HMIIR3
150,000« 12& 1,800
202 04l 1,200 1,680 A480
o1 =LHolb| 1,200 1,680 2480
OEIXIS &K S WX
60,0003 x4 & +53] 1,200
206 M=l 16,000 20,000 24,000
01 M=4l 16,000 20,000 24,000
Odolis 2 & 45228 SN
17,5003 »100E »42] 7,000
OIS S +=SHEFMHEE Hlz71Y
15,0003 *300 L +22] 9,000
401 Al HIZL 201 300,000 300,000
01 Al&HI 300,000 300,000
OJI23tH(MRSY) =8 & RA22| A 300,000
—&3 30,000, 000& %52] 150,000
—daois Al 10,000, 000& x52! 50,000
—AlHl, 2= S 10,000,000 *53! 50,000
—0la & B4 10,000,000 %52 50,000
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o e

=aak

ulr - 0K
40 2 o

=Xt
As T2 TAXH
ECANBAHE

SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
405 AHaHE = 6,500 6,500
01 TR ESF SHI 6,500 6,500
Otz & IJt2eid 228 &l 2 6,500
—dFI| 7Y 500,000 *3CH 1,500
—0=J! 7 500,000 *3CH 1,500
— &2 1,000,000 *2CH 2,000
— A 1,500,000 = 1CH 1,500
2HE JIZ2H =4 Y 2| 100,000 100,000 0
401 AlEHIZ S 0HbI 100,000 100,000
01 AlZH| 100,000 100,000
O2E EES4 FA2c At 100,000
—HESH BARY
25,000,000 #2042~ 50,000
—EES4N M==AY S |2
25,000,000 #20H 2 50,000
SA=TZeE 2Y(HEAL) 26,238 24,000 2,238
= 13,119
Al 13,119
101 e124d| 26,238 24,000 2,238
=S 13,119
Al 13,119
04 JIRHNZZ2XSE S 26,238 24,000 2,238
OEAI=X2eld 23 26,238
—Jl2=s 1,595,454« 118 17,550
= 8,775
Al 8,775
—F=5=4 80,2403 x 12 48! 3,852
= 1,926
Al 1,926
—Ex==g 80,2402 x 1+ 11 883
& 441
Al 442
—S5€+E 80,2403 x 1 » 15 1,204
= 602
Al 602
—=go= 24,473,200 +4. 5% 1,102
=S 551
Al 551
—IES 24,473,200 *3.545% 868
< 434
Al 434
—UEEE 24,473,2003+1.75% 429
= 215
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ol SEEZASEEE EER=E)
SA - A - S9I(E) - HIRAY - BES ol &t G o HIDE2
Al 214
—oHEE 24,473 ,2002 0. 966% 237
S 119
Al 118
-3y 868,000& %12.95% 13
S 56
Al 57
2= AN & RX2 568,857 471,932 96,925
201 2= 6,332 6,526 A%
01 AFS2t2ltl 4,590 4,590 0
Otz 228 2248 I S 7
184,000& *5&+22] 1,840
Otz S2HEM MH & HES FHISR
550,000 »1CH+53] 2,750
02 2324l 1,742 1,936 AN194
OZAl= & JI2=s 22| RF4|
174,200& 102 1,742
203 ZR =& 1,000 1,000
03 AR Z=XHE=AH| 1,000 1,000
Odt2=2e| ARFIHI(LE)
1,000,000& * 14 1,000
206 M= HI 11,525 14,406 A2,881
01 =4l 11,525 14,406 A2,881
OJt2= M8 DEHE & S2H 2
= 19,730& 100 £+32] 5,919
Oz S == 258 I 7
560,600 *10JH 2~ 5,606
401 AIEHIZL S OHHI 550,000 450,000 100,000
01 AIZHI 550,000 450,000 100,000
Oz =8 A
100,000& *2,000== 200,000
O T2H 2™LI? SMHHA At
100,000& %1,500%= 150,000
OJtz== =8 0= € M=
10,000,000 102 100,000
OJtZ24 E3o LHAY
100,000& *1,000==+13] 100,000
YE Iz =2 T4 L 22[(HEAre) 100,000 150,000 A50,000
= 50,000
Al 50,000
401 AlIEHIZL R OHYI 100,000 150,000 /50,000
= 50,000
Al 50,000
01 A&l 100,000 150,000 /50,000




A SE>=X1
B MOIRIE T2 CAIZA
&?H?l: SEETANSEHE (EEEE))
A - BB C9(B) - MRAY - BES ol &k G o HlmS2
AE Jlzand 24
100,000,000 * 100 &~ 100,000
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